APPLICATION FOR PARTIAL PAYMENT OF CONTRACT

	Project Title	:	SE East La	wn Area Utility	/ Improvement	s - Phase :	3
city of		Civil Design A					
Ankeny	1	340					
bringing it all together		lget Code: 33			1753		
		610.3610.4210; 650.		33.3963.4210	-		10; 963.4210
		ect or Invoice #		16 2010	PO : Vendor		2407
	Original Col	ntract Date:	Septembe	er 16, 2019	vendor	#	2407
Date of Council Meeting	1/20/20	0(AYMENT REC		3
	PAYN	IENT PERIOD:	From:	12/02/19	through	n:1	2/29/19
Contract Summary							
Original Contract Amount:		\$	93,380.00	_			
Net change by Change Orders:		\$	-	-			
Contract Amount to Date: (line 1 :	± 2)			\$	93,380.00		
Total completed and stored to da	ate:	\$	70,493.14				
Retainage: % of Com		\$		-			
Total Earned less Retainage:				- \$	70,493.14		
Less previous applications for pa	ayment:			\$	57,127.14		
SUBTOTAL					_	\$	13,366.00
OTHER CHARGES (Please attach	an itemized list)					\$	-
CURRENT PAYMENT DUE)=	\$	13,366.00
Balance to finish, including retain	nage:			\$	22,886.86		
Contract Time Remaining (If appli	cable)		-	CALENDAR	DAYS		
The undersigned Contractor certifies that to the accordance with the Contract Documents, that received from the Owner, and that current payr	all the amounts have	been paid by the Contr		April 2 Inch			
Construction Contractor Approva	a <i>l:</i>						
	Firm Name						
Signature						ate	
Engineer/Consultant Approval:	Civil Design A	Advantage	A			4/40/000	
Signature		Gorhua	U.	uggola	<u>D</u>	1/10/2020 ate	J.
City of Ankeny Staff Approval	~				D	1/10/20)20
Submit to:							
Email:		Pho	ne:		Fax:		

Date Printed: 1/10/2020

APPLICATION FOR PARTIAL PAYMENT OF CONTRACT

	Date	 Amount	#	Date	Amount		of Change Orders	3
	10/21/2019	\$ 27,418.70	51 _			#	Date	Amount
_	12/16/2019	\$ 29,708.44	52			1		
_			56			2		
_			54 _			3		
			55 _			4		
			56 _			5		
20	The second second		57 _			6		
-5-			58			7		
			59			8		
			60			9		
			61			10		
			62			11		
_			63			12		
			64			13		
			65			14		
_			66			15		
			67			16		
_		 	68			17		
_			69			18		
			70 -			19		
			71			20		
_			72			TOT	AL	\$
		 	73					-
_			74 -					
-			75 -					
_		 	76 -			Contract	Time Remaining:	
_		13	77 -		-		CT PERIOD:	CALENDAR DA
_		 	78 -				Contract Date:	CALLINDAN DA
_		 	79 -				Contract Date:	*
-			80 -				Change Order:	-
_		 	81 -	···		Contract	Time to Date:	-
_								
_		i i	82 _				ed to Date:	•
_			83 _			Contract	Time Remaining:	
		 59	84 _					
			85 _					
			86 _					
			87 _					
			88 _					
		 	89 _					
			90 _					
			91 _					
			92		-			
			93 _					
			94		-			
			95					
Ξ		_/2	96					
			97					
			98					
_		- 12	99					
			100					
			100		- W			

Invoice



Civil Design Advantage LLC 3405 SE Crossroads Drive Suite G Grimes, Iowa 50111 (515) 369-4400

City of Ankeny Becky Ford 220 W 1st Street Ankeny, IA 50023 January 10, 2020

Project No:

1907.333

Invoice No:

29406

Project

1907.333

C. Ankeny - SE East Lawn Improv. Phase 3

Professional Services from December 02, 2019 through December 29, 2019

Task

230

Cost Opinion

Total this Task

0.00

Task

301

Construction Drawings

Professional Personnel

	Hours	Rate	Amount
Engineer 1	27.00	80.00	2,160.00
Engineer 5	4.00	120.00	480.00
Engineer 7	47.50	141.00	6,697.50
Technician 1	11.00	50.00	550.00
Technician 4	10.00	81.00	810.00
Senior Technician	5.50	126.00	693.00
Totals	105.00		11,390.50

Total Labor

Total this Task

11,390.50 \$11,390.50

Task

308

Utility Coordination

Total this Task

0.00

Task

309

Specifications & Contract Documents

Professional Personnel

	Hours	Rate	Amount
Engineer 7	14.00	141.00	1,974.00
Totals	14.00		1,974.00

Total Labor 1,974.00

Total this Task \$1,974.00

Task 310

Construction Letting

Total this Task 0.00

Task

501

Project Information Meetings

Total this Task 0.00

Task

998

Permits & Fees

Total this Task 0.00

Task

999

Reimbursable Expenses

Unit Billing

12/4/2019

Plots - Black & White

1.0 print @ 1.50

1.50

1.50

Total Units

1.50

Project 1907.333		C. Ankeny - SE East Lawn Imp	Invoice	29406		
			Total this Task		\$1.50	
Billing Lin	nits	Current	Prior	To-Date		
Total E	Billings	13,366.00	57,127.14	70,493.14		
Lii	mit			93,380.00		
Re	emaining			22,886.86		
		Tota		Invoice	\$13,366.00	

Project Manager

Joshua Trygstad

January 10, 2020

Attn: Becky Ford, P.E. City of Ankeny 220 West First Street Ankeny, Iowa 50023

RE:

Billing Information Report #3

SE East Lawn Area Utility Improvements - Phase 3

Ankeny, Iowa CDA 1907.333

Dear Becky:

Enclosed, please find a copy of Billing Information Report #3 for the SE East Lawn Area Utility Improvements – Phase 3.

During this time, Civil Design Advantage finalized the Construction Plans and Contract Documents for the SE East Lawn Area Utility Improvements – Phase 3 project.

Please contact me with any comments or questions.

Sincerely,

CIVIL DESIGN ADVANTAGE, LLC

Josh Trygstad, P.E. Project Manager

Enclosures